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Motivate all your answers.
The use of electronic devices is not allowed.

(a) [3pt] Solve the following initial value problemf
' 2 1
y .Ty - 1‘2*
y(1) = 2.

(b) [3 pt] Consider the following differential equation:

Foe & _ gl >0

Find the solution of this DE by making use of the function v(x) that
satisfies y(r) = rv(x).

(a) [2 pt] Find the modulus (absolute value) and the argument van u' =

o . L 1+iV3
(b) [2pt] Solve: z3 = —8i.

[2 pt] Proof: zi = = w for every pair of two complex numbers z and w

[5 pt] Determine the solution of the following second order differential equation:

y' — 4y = xe’ + cos(2r)

(a) [2pt] Determine a vector n perpendicular to the vectors u = (—1,0,6) and
v =(2,-5,-3) '

(b) [3 pt] Proof: Two vectors u and v are parallel if and only if u e v = *|u|v]|.
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